18086

B.B.A. Examination,
Advertising Management

(BBA-301)

[New Course_] L
[Muxfmﬁin Marks : 73

ons as Per

Dec.-2022

Time : Three Hours |
Note : Attempt all the Secti

instructions.

| Section - A
(Verv Short Answer type Questions)
Note : Attempt all questions. Each-question

carries 3 marks. Very short answer is

réquired not exceeding 75 words.
3x5=15

1. Discuss the importance of advertising in

business.
P.T.O.

n public relationg

2 Dirfer'entfate hetwee
. and publicity:
37 “What is sales prorﬂDtiUﬂ?
/4 pefine internet advertising-
5. Whatis media planning? |
Sectian—B | A
(Short Answer type Qﬁestiohs)
Note : Attempt any two question out of the

following 3 questions. Each question

carries 7.5 marks. Short answer is

required not exceeding 200 words.

2x7.5=15

ﬁéi? Who are the key players iﬁ adverfising?

Elaborate. .



g@The Mmedia in 2022 K

as qhnwl A
paradigm shijft. Explain the great
and

importance of Media in 2023
Section-C
(Detailed Answer Type QUEStions)

Note : Attempt any three Questions oyt
of the following 5 questions. Each
questions carries 15 marks. Answer

is required in detail. 3x15=45

9~ Discuss the t'yp_es of advertisihg in detail.

‘What purpose do they serve? Explain.

10. at are the various advantages and

disadvantages of publicity? Discuss in-:

detail.
11. Define sales management. What are its
various objective. Also discuss its various

strategies.

18086/3 P.T.O.

idered
. factors to be consi
' erate the€
2. Enum

) - ia advertising.
in the development of
s0 elaborate on how

5 w:!l be lmple_-mented.

rhese strategies,
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18089

B-B.A. Examination, Dec.-2022
Customer Relationship Management

(BBA-304)
(New Course)
Time : Three Hours } [Maximum Marks : 75

Note: Attempt all the Sections  as per

Instructions.

Section-A

(Very Short Answer Typ_e Questions)
Note : Attempt | al_l- five._ questions. Each
question céFries 3 marks. Very short
.answer Is required not exceeding 75

words.
1.

2.

Define pata import.

Write the purpose of CRM.

~an training benefit retention? 4

3 HowW

- the different modules in CRM,
Name

4 Name 4 C's of CRM process, 3

Section-B

(Short Answer Type Questinns)

Note : Attempt any two questions oyt of

the following three questions_ Each

question carries 7%2 marks. Short

answer is required not exceed 200
words. _

6. What are five iﬁﬁpértant steps in CRM

implementa_tion'?" 7Yz

7. What do vyou understand - by CCM?

Explain in brief its importance for growth

of business. 7>

Explain the important utility tool and the
benefits of its integration

in CRM. 75
18089/3



Fequireq in detail,

0 pefine CrM. ‘What are its c-crnpcnent ?
57

scribe,
Describe https:, mﬂv,ccsusmdv_com 15

10. Whatis meant by CRM Solutions? How will

you choose the right CRM to maximize

ROIfrom your investment? 15
M What s

Management and how is it important?

=

customer relationship

15

. Define E-CRM. Describe its features and
Process Df_q’fhplemema“on'

P.T.0
180893 |

&3, Explain.the purpose of Befa test and hoW

can this be performed?'

{

.
-y

15



18091
B.B.A. Examination, Dec.-2022
Income Tax Law and Practice
(BBA-306)
(New. Course)
T r,;me : Three Hours ] | [Maximum Marks : 75
Note : Attempt all the sections as per

instructions.

wft el 1 Frerger & ﬁﬁﬂvl
_Sectlon—A/EU‘s’-EE
(Very Short Answer Questions)
| (fd o1y T o)
Note : Attempt all five questions. Each
qguestion carries 3 marks. Very Short
answer is required not exceeding 75

words. 3x5=15

i | P.T.O.

¢Fﬁ353ﬂﬂiﬁﬁﬁﬂl5ﬁﬂﬁiﬂﬁq'3
af “"f‘: e 75 T ARy 71y TR
e 8! '

K ote ON "Assessment Year",

n

ite short :

1. W e AL
,  pistinguish D
" under Income Tax Act

etween "Exemptmns" and

npeductions

1961. (Any 3)
Wﬂﬁ;ﬁmwm%aﬁ e’ 31’R aﬁ??r

3 &g 3R DY) (@B W aF)

3. Define "Agriculture Income" as per
Income Tax Act 1961.
"B T Y ST TR 1961 % SFER
TR 3|
4.  Write )
short note on "Casual Income”.

TR ST o1y s, ok



5. write short note on clubbing provisions

in case of "Minor".
e B WA N FetfET HIaeT a3 ey e
ferd|
Section-B/@Us-Y
(Short Answer Questions)
(o7 I 9E)
Note : Answer any two questions out of the
following 3 questions. Each question
carries 7.5 marks. Short answer is
requjjred not exceeding 200 words.
PrefoRed @ swt # @ fod @ we
BT IR Af>E FA® 5. 7.5 3iF BT &
siftrae 200 Tt § g FeR anfd &1
| 7.5%x2=15

67 Mahesh is an employee of X Ltd. at Del-
hi. The company provided following re-

muneration and perquisites for the year
ended 31/3/2021. Compute the salary
. income of Mahesh for the A.Y.2021-22.

.. (i) Salary @ Rs. 30,000 p.m. Bonus @

(ii) rent

The act
and the

___—— |actual cost
n‘q- (RS.) WtD.V (RS.}

E.I_,___———_'——_.-—_P_-—- .
40,000 30,000

{ Furniture

TV, & Refrigerator

¢he salary.
rnished
e fu acco
mmﬁdatiﬁn

pich theé company pays
- W 3 rang
000 P-mM.

20% ©

fol

of RS- 77 o
of the

Jal cost asSsets Provideg

r w.D.V @5 0N 1/4/2034 were as

| i

37,000 =rlc24,000

P.T.O.

(iii) Transport allowance Rs. 1,800 p.m.

(iv) A gardener and a sweeper to whom

the company pays Rs. 2,000 p.m.
and Rs. 1,500-p.m. respectively.

(v} Reimbursement of following expéh-

.djturE: Gas and electricity bill Rs.

77000, Club bills Rs. 6,500 Medical

bllls-(Treatment is done in @ nursing

home). Rs 28,000,



Tou el Rera X fafiks @ adardt 81 Hah

N 31/3/2021 @ i ad b faw gfesfies

JIR FUE & DY | gediceT 2021-22 & e

HRYT I 9T 37T &Y 0T B

(i) Ja9 30,000 TUI ufcwE e A 9 &
20% & a3 | =9I

(ii) Fdﬂ'l?:ngcm gufsora sma e fere
&ur 7,000 ufasre & fa’rar o 2

wa @ 18 uReufar o Aty e

3R 1/4/2020 & W.D.V: |

grEIfad NI (¥0) [ W.D.V (Rs.)

IR 40,000 30,000

&Y vs AUbaex| 37,000 24,000

(iii) uRae= @ 1,800 fr wWIE
(iv) .Ue AT 3R v TR 5197 U=l HHeT
2,000 BU Ui A1 3ik 1,500 B gl

HIE BT YA BT 2

G RS 7,000, dq faer Rs. 6,500.

&) Rs 28,000

Define capital Asset. Aiso Differentiate

petween S€C 54 and Sec 54F of Income

Tax Act 1961.

g afReafy B IR FR| g el
s 3fFad 1961 & GRT 54 3R 54F &
dra sie B T

B Expiainlset-off and carry forward of loss-

es in case of

(a) Capital Loss

(b) Loss from House Property
(c) Loss from activity of owing and

Mmaintaining Race Horses

18091/6



Pr=faRaa _3ifts 3 WIGET o ST |
® fere e : 9. Explain provisions of followingd under
R ' "profit and Gains of Business of Profes-
Qjﬁ"k“l" I cion." Section 44AD, Section 44ADA,
(@ Section 44AE.
(b) ziqﬁi'@fgaazll ! "Waﬂimﬂswmm’ $H€H
. ' PrafyReq & wEgEl B DTl | grT
(c) X O1El & § wEy & et 3
' o 44AD, &IRT 44ADA, URT 44AE|

FP¥T 10. X owns a building consisting of 3
identical units, the construction of ‘which

Section-C/d@vs-1
: was completed on 1% April 2019. The
particulars of 3 buildings for year.ending

(Detailed Answer Questions)
31st March 2021 are as below:

(forga 3w ve)
| Particulars - Unit T |Unit I |Unit 111\
Note : Attempt any three questions out Fair rent 60,000 {60,000 50,000\
of the following 5 questions. Each Rent received ' - 72,000 } -
. ] ) Municipal taxes: Paid 3000 |5000 3000
question carries 15 marks. Answer is

Municipal taxes: outstanding 3000 -{5000 (3000

required in detail. 3x15=45 Land revenue : outstanding [1200 [1200 . |1200
: c S ¥ 3R % - 5 % Ground rent : outstanding |2400 (2400 |2400
o Nature of occupation Self - |Let
IR AT TS 997 15 37! &I &1 fFga ) R
| occupied for own
FR anfam g1
. . B i
1805178 usiness

18091/7 P.T.O.



On 1= April 2018, X had borrowed a sum
{ﬂ,ﬁﬁa@r A5y 25 w0 H IR I &
3 AT

of Rs. 5,00,000 bearing interest at 12% i e Japen ’f‘““
_4"J 60,000 | 60,000 60,000
A AOA - —
p.a. for construction of this building. The l“;:j:_r;ﬂ_,__,_..— - 72,000
j: o mqﬁ-m 3000 | 5000 3000
business income of X for the year ended ;,,f._&qwq—é%ﬁsm 3000 |s000 3000
- — 1200 | 1200 1200
31t March 2021 is Rs. 2,10,000 (before Jmf,ﬁmmm 2400 | 2400 5400
- R [ ] R o R | o
taking into account any item connected Ny
e |
with the above property). Compute the - - -
P ) | P 1 36T 2018 Y "X" 3 39 Wa4 & ool & fore
. N
taxable income of X for A.Y. 2021-22. 12% s ¥ Bt AR 5,00,000 T B I
FaR ot ¢t 31 A1 2021 Y T & A $ R
X" 3 THE goRA ¥ R ve sRRT @ X B OEwiis smr 2,10,000 IR (IR
s 3 A ¥ 8} ot o g @Y e o < @
: FeioT 1 amter 2019 @y
| e Tl ¥ ALY, 202122 % fore X Y @ a
fobar T o) 31 I 2021 BT w3 fore S &t o7y 5%

1QNNae ra.



11. R acquired a residential house on

1/9/1998 for Rs. 1,00,000. He spent Rs.
25,000 on 1/7/2000 for the improvement
of this house property. A further amount
of Rs. 50,000 was spent by him on
15/09/2005 on improvement of the
house. R gifted the said property to his
son B on 12/10/2015. B also spent the
following amount on improvement of the

house: https://www.ccsustudy.com

Date of 'Amount Date of Amount

expenditure

expenditure
15/6/2020 Rs. 40,000

15/12/2015 Rs. 60,000
'B sold the above house on 30/11/2020

for a sum of Rs. 45,00,000. Expenses on
transfer were 2% of the sale consideration.,
FMV as on 1/4/2001, Rs. 3,00,000. Compute
the capital gain for the A.Y. 2021-22

Previous CII Previous CII

~_year year
- 2001-02 100 2015-16 254

2005-06 177 2020-21 301

P.T.O.

iROG1 /11

5 1/9/1998 @ 1.00,000 T ¥ RewEl

7 HIEIIEOT fsar) s=aF 3@ &34 Sact
e 1/7/2000 gz 25,000 BIC CE|

IR
BT

¥ R D
fpp) 3 &RT HPH ¥ FaR U¥ 15/09/2005

2 50,000 T B 3R ey et Y N IR A
12/10/2015 BT 31T A & Y 37 Hafy He B
& ot gz & IR R Frafefaa afdr @
g e <fer =g o fafer ﬂﬁr
15/12/2015 60,000 TUY  15/06/2020 40,000 T
! ¥ 3R FSIT BT 30/11/2020 BI 45,00000
o o fer ¥ A R wveRoT ) 2 R
B 2% THTEY 1/4/2001 BY 3,00,000 TR
&1 fort @ 2020-21 & fore o @y & worn
|
et A Wemdand frer e Wamgang
2001-02 100  2015-1g 254
.2005-06 177 5020-21 301



12. Explain the following peductions: in _
Jant
I'Es!denmmmSﬂ Sm
(a) Section B0 G _“;:;”-‘1'}(’!1‘? il —
/Mr‘olled
(b) Section 80 TTA 1,20,000
trom Delhi —
(¢) Section 80 C o Business in Bangalore
1,80,000
%W%%H e ffaar D ARAT B controlled from USA . ed
. ment from a property in USA receive
(a) 80 G there but Spbslequef'lth’ rem_ittﬂd to India ) GD,UDU
(_b} T 50 1A Interest from deposit with in an Indign _.Co. _
N received in USA ) o 20,000
(c) &RT80C . ~
{T’mﬁts for the year 2014-15 of a business
13. The following are particulars of income in USA remitted to India during P.Y.
| | 2020- Jier
for P.Y. 2020-21. 21 (not taxed earlier) 75,000
Gift received from his parents | 45,000
Compute his income for the A.Y. - _
2021-22 NBe 9 2020-21 % fow 37 @1 faaReT ALY,
if he is:’ 2021-22 & fore 3y o ToFT @Y WK TE
- HRA § Pt ik sl o3 R & ara 3
Resident and ordinarily resident in India, Ik R - e,
f ARt 7 & sife wRa F dRk-Frared
- Not ordinarily resident in India and Non- 8l

o PR - -

a1/17 - -



a‘wwsﬁﬁmﬁmﬁrﬁﬁﬁﬁ#ﬁﬂm 80,000
ﬁﬁﬁ@fﬂ?ﬁﬁﬁﬁﬁﬁﬂwﬂmﬁaﬂﬁm%m 1,20,000
ﬁgﬁﬁmmﬁﬁﬁﬁﬁdﬁaﬁmﬁmﬂ%mmo,nm
ﬁgﬁﬁmaﬁﬁaﬂﬁw#ﬁ%ﬁmmaﬁm
R, Aif are o ura & foe Mfta 60,000

e 50 SRR F G T SRART B H S
g & ‘ 20,000
< 5 SRS ¥ o e & 4§ 2014-15 &

P BT 2020-21 3 &R HRd @ I (TEd &R ) 75,000
iRy rT-fen 3 ey SRR | 45,000



18038' |
Be, . gminatio?” Dec-"202,
: ::ﬁdian Econo™y
(BBA-303’
(New Course)

Tim, . ]
e T Fee Hours ] [ M. ax imum Mﬂrkg * 75

N " . !
O : Attempt all the Sections as pe

instryctions.
Section-A

(Very Short Answer Type Questions)

N : |
ote : Attempt all the five questions of

this section. Each question carries 3

marks. Very short answer is required

not exceeding 75 words. 3x5=15

1. What is meant by growtp in terms of

economy?

P.T.O.
J

f Pg

nc:ept ¢ Pulatio,.
0
2 Explain e ;

. 'Sm

_fe\pmmoﬂ u ean by A Sca
37 What do Y°

it ﬂfuruzl:u:)'"ﬂ °"Operative

4.  Whatisthe mat

Banks?

ductivity.
5. r-'DEﬁnE agr”:LIIturai p_i:g--"'
section-B

(Short Answer Type Questions)

Note : This section contains three questions.
Attempt “any two questions. Each
question carries 7% marks. Short

“answer is required not exceeding 200

the Probley, . - *

18088/2



87

~ Note : This section contains Ve

10.

P withOHth

o
¢ deve
"An economy ¢@""° " Dis
y ital Cs
development of hum nar ||, scale aS.
ma n
Discuss the prﬂbfems o f rence )
. refe
cottage indystri®® wieh tﬁ
—_— —_—
India.
Sectionﬂc .
QueStions)

(Long Answer Type
questions,

v three questions. Each

Attempt any t
‘question carries 15 marks. Answer is
required in detail. 15x3=45

Explain' the problems of cotton textile
industry faced by Indian industry.
How was NITI Aayog formed? Explain

the functions of NITI Aayog

I+ When was Reserve Bank of Indid

18088/3

nationalised? Describe the main functions
un

of the Reserve Bank of ingi
' Q.

p.1 0 /

oné are failed in

nstituti
12 nFinanC' : ancfal problems of Indian
in
. thé
SDNIﬁg i
s comme”t Critically.
Indusr ' ..
ne.is not enough
y wth %"O
13. pconomic 9 '
d countries, it must

derdevelope€

for un
d by development.

be accgmpaﬂie

Comment.



\LLLss) e

BBA - III Sem.

3. What do you mean by decision support
18090 . i
system?
- B.B.A. Examination, Dec.-2022 T et o IS 3
L 4,
Management Information System 3

(BBA-305) 5/ Discuss the benefits of ERP.

- ! |
Section-B

(New Course) |
(Short Answer Questions)

Time : Three Hours | [Maximum Marks : 75

Note : Attempt all the sections as per

Note : Attempt any two questions out of

the following three questions. Each

instructions. | | - question carries 7%z marks. Short

~ Section-A - answer is required not exceeding 200

(Very Short Answer Questions) words. - 7hx2=15
Note : Attempt all five guestions. Each 6. Briefly describe the role of Management
Information System. R | 75

question carries 3 marks. Very short %

L i ' ' 2« Explain various types of Infor i 1

answer is required not exceeding 75 | mation. 7%
| s 8. Discuss the role of KBES in MIS. 7%

| wo:;ds. 3x5=15 Section-C
1. What is Corporate planning? 3 (Long A“SWEI‘-Questiuns)
2. Define  Management  Information Note: Attempt any three questions out of
J_ System. | 3 " tangn;;he following five questions. Each

P.T.O.



question carries 15 marks. Answer is

required in detail. 15x3=45

9. Management Information System is the

tool for management process. Explain.
15

10. Explain the concept of Decisidn Support
System. Discuss its components. 15
11. What do ?o.u. mean by transaction
processing systém? Discuss its role in
Management Information 5§stem. 15
1;70 What is. ERP and write the objectives of
ERP? - 15
l}g What do you mean by Artificial Intelligence
System? Describe the applications of

artificial intelligence. 15



B.B.A, - 1II Sem.

18087
B.B.A. Examination, Dec.-2022

Team Building and Leadership
(BBA-302)
(New Course)

Time : Three Hours] ~ [Maximum Marks : 75
Note : Attempt questions from all sections
as per instructidns.
Section - A -
Note :-Attempt all questions. Each question
carries 03 marks. Very short answer
is required not exceeding 75 words. -
3x5=15
1. What are Cross-Functional teams?

277 Discuss any two factors affecting team-
building.
P.T.O.

Mhat is the concept of leadership?
*a.//What are the main types of personality?

5. How a group is formed? Descm
Section-B
Note : Attempt any two questions out of
the following three qt}estiuns. Each
question carries ?.5- marks. Short
answer is required not exceeding 200
-words. | 2x7.5=15
6. Discuss the ‘different methods of
personality measurement.
7. "Leadership is situational". Explain this
statement. https://www.ccsustudy.com
8. What are the main components of Group
0. structure? Explain in brief, B
l Section-C
Note : Attempt any three questions out

of the following 5 questions. Each

18087/2



10.

11.

12.

13.

question carries 15 marks. Answer is

required in detail. 3x15=45

What are the different types of Teams? -
H 'l.‘l/__
Evaluate them with examples,

l"‘-ﬁ—--——_

What is Goal setting of Team? Discuss

the role and responsibilities of team

-

members’._'"
"A good leader is not necessarily good
manat:;er". Discuss this statement.
Discuss - the different methods of
personality measur;ement.

Write a detailed note on "Formadtion of a

Group", keeping in view their roles and

sizes.

18087/3



